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1. A woody or herbaceous plant leaving from year to year not during after once flowering is
called.............. .
a. Shrub b. Annual ¢. Biennial d. perennials
2. The region of the stem between any two nodes is called.............. .
a. Primordia b. Internodes ¢. Andreoecium
3. The shoot functions primarily........support conduction and fox
a. In b. as ¢. Into
4. In a relatively small number of plant more than tﬁo leg
arrangement.

b. Alternate

usually from t

b. Embryo-Cotyledon
d. Cotyledon - Embryos

present in the bark of species of the cinchona tree.

a. Glycosides b. Beverages c.Perfumes d.Alkaloid

8. What is the black tea made from?

a. Old leaves b. Two ends leaves

¢. Fermented leaves d. Green leaves
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9. In dark stage the carbon dioxide is reduced and carbohydrate synthesized via the

a. Krebs cycle b. Calvin cycle ¢. Photosystem 1 d. Photosystem 11
10. C4 plants fix carbon dioxide into

a. Phosphoglyceris acid b. Oxaloaceticacid

c. NADPH d.ATP
11. The stroma makes ............... reactions possible because.......

a. Light-enzymes b. Light-pigments

c.Dark- enzymes d. Dark-lipid
1 is a dry fruit with one seed, tﬁ@

cypsela.

a. Achene b.Spik appus d.Spikelet
13. What is the kind of fruit of ¢

a. Drup LLyps d.legume

a. Papus c.Capitola d.Phyllaries

15. The use ns_ drganisms, often but not always microbes in industrial processes.
‘; Yy b. Biotechnology  c.Biology d.Botany
16. A cell from which, the cell wall has been completely called
a. Embrvo b. Protoplast c.Protoplasm d.Endoplasm
17. Viruses.....ooooeevnne used for gene transfer.
a. Has also been b. Have also been
¢. Also has been d. Also have
18. One reason for the production of transgenic plants is to increase the rate of
a. Trans formation  b. Photosynthesis c¢. Respiration d. Transpiration
19. Tissue culture 1s used for plant

a. Nutrition b. Growth c. Pathogeny d. Improvement
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20. A group of vascular plants whose seed are borne naked on a sporophyll and not in an ovary.
a. Anglosperms b. gymnosperms c. seed plants d. Tracheophytes
21. Most plant fossils are found in
a. Sedimentary b. Rocky d.Volcanic
22. Carbon dating can be used to estimate the of any natural materia
a. Modification b. Extinct c.Age d Evslutio
23. What are the extinct plants?
a. The plant that are not a live today.
b. The plants that are still livings on the carth.
¢. The plants that form restricted populations.

d. The plants that form extensive populations

24. A sequence of changes in tim CIES I¥nabit an area, from an initial pioneer

community to a final climax co

a. Succession . \peti d. interplay

a. Slope . TOpsoi d.porosity

26. The enf
b. Community c. Population d.niche

27. A association of fungi and algae in lichens is an example of

a. Parasitism b. Amensalism c. Competition d. Mutualism
28. The factor that located in a definite position on particular s called

a. Genome b. Genotype c. Gene d. Factor
29. What is called the outer surface of each cell?

a. Centriol b. Golgi c. plasma d. membrane
30. The main subdivision of plant or animal kingdom is.

a. Class b. Family c¢. Genus d.Phylum

ksl gaisliah adll gl 5905 L 0325 ol DN amdo T ) 5o (slo Y AR Sl s
www.Sanjesh3.com OV -AFOA-AN www.SanjeshT.com



W

1yl Slply stSmata
as S

7
.lf\\-;—

A

£ 1A v+ 3 g s Dol (S p3le) ulibionns g (g al
s voiPupll ¥t sogedl ole OAAPAEL) ol psle - lis s 1g0pd o [ a0
@ 38 O b e szai el

— e Lol Jlw —— 230 3l (V) S s ffgaw gy S

1. Syntax: Put the following words and expressions in the right order to make the best meaningful
sentences

(8005 ¥/0) .amslad L e
a) Plants, are, organs, so, animals, clearly, those, demarcated, of, as

b) In, are stored, and, plant, starches, glycogen, cells, cells, animal, in

U

2. Translate the following text from English into Persian

(0,00) /8) a8 a5 ol (ouisld 43

species are confined to tropi tropics.

3. Define the biological terms in English.

(a3 /0) wii€ Ly ceadlil a1 a5 Sy (sla o35

a) Bark:
b) Accessory pigment:

¢) Amensalism:

4. Write the English equivalent of the following Persian word.

(6305 V) vtz 533 1y 5 SLal€ 3 Sy 52 sl Jolas

SASS (s s A ke (g s (o Salss (3l
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5. Insert T for true and F for false in front of the following statements.

(Qﬁ'fﬁ)-%tﬂi@*&&lﬂ?)di)h&Jd‘de

a) Primitive human being were well aware of the role of fire in plant ecology
b) The heads or capitula are not variously arranged

6. use the following word and phrase in original sentences.
(803 +/0) (bl punca (55 g0ua g o ob

a) Paleontology: 0
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